1218 W
1 4.6 W
108.0
= 1 =<
= 4.6 > 108 497 W
® = +
) = 1218 + 497 1715 W
(qa) 165 W/
(Atn) (Atn) = E / qa
= 1715 / 165 = 10.43
( ) 18
® ( ) Atn 7.57
D = 319 K
) 0.9 -
(Qs) 9,600 Wh/
(Qs)
= 24 < ga < D / n
= 24 > 165 = 319 / 0.9 / 1000 = 1,399 KWh
Qs)
= 24 x ga < D / n /
= 24 > 165 = 319 / 0.9 / 9600 = 146
= /
= 146 / 108 = 1.35 /
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Vi Yi[m] | Z[m] | X[m] | Y2[m] JAI[ 1| L1 L2 fl 12 fc No(Ki) ni
w1 0.39 12 1.72 | 2.00 | 3.44 1.00 0.45 0.45 0.60
W2 0.39 12 1.72 | 2.00 | 3.44 1.00 0.45 0.45 0.60
W3 0.45 B6 0.50 | 1.17 | 0.59 1.00 0.29 0.29 0.08
W4 0.45 B6 0.50 | 1.17 | 0.59 1.00 0.29 0.29 0.08
W5 0.45 B6 0.50 | 0.97 | 0.49 1.00 0.29 0.29 0.06
W6 0.24 B6 0.79 | 2.20 | 1.74 1.00 0.29 0.29 0.12
w7 0.24 B6 1.72 | 1.35 | 2.32 1.00 0.29 0.29 0.16
W8 0.45 B6 0.50 | 1.17 | 0.59 1.00 0.29 0.29 0.08
W9 0.45 B6 0.50 | 1.17 | 0.59 1.00 0.29 0.29 0.08
W10 0.39 12 1.72 | 1.55 | 2.67 1.00 0.45 0.45 0.47
W11l 0.39 12 1.72 | 2.00 | 3.44 1.00 0.45 0.45 0.60
w12 0.45 B6 0.79 | 0.57 | 0.45 1.00 0.42 0.42 0.08
W13 0.45 B6 0.50 | 0.97 | 0.49 1.00 0.29 0.29 0.06
W14 0.45 B6 0.97 | 0.64 | 0.62 1.00 0.42 0.42 0.12
W15 0.24 B6 0.97 | 0.50 | 0.49 1.00 0.29 0.29 0.03
W16 0.24 B6 1.72 | 1.80 | 3.10 1.00 0.29 0.29 0.22
w17 0.39 12 1.72 | 2.00 | 3.44 1.00 0.45 0.45 0.60
w18 0.39 12 1.72 | 2.00 | 3.44 1.00 0.45 0.45 0.60
W19 0.45 B6 1.72 1 0.90 | 1.55 1.00 0.29 0.29 0.20
W20 0.24 B6 0.50 | 1.37 | 0.69 1.00 0.29 0.29 0.05
W21 0.24 B6 1.72 1 1.35 | 2.32 1.00 0.29 0.29 0.16
5.06
Vi Ai Ki Ni=0.04Ki vi Ni Ai
0.39 54.25 0.25 0.01 0.18
0.39 3.75 0.30 0.01 0.01
0.45 54.25 0.25 0.01 0.21
0.45 3.75 0.30 0.01 0.02
0.24 54.25 0.25 0.01 0.11
0.24 3.75 0.30 0.01 0.01
0.45 54.25 0.25 0.01 0.21
0.45 3.75 0.30 0.01 0.02
1.00 60.00 0.22 0.01 0.44
1.21
108.00
6.28
0.06
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